
EnstnuctEosrs 3

t " ,{JJ questions of PARI - A are compulsory.

2" Answer any five questions from PARI . B

PART-A

Marks -25

l" Fill in the blanks :

(a) The operation of SCR can be explained by

(b) A DIAC is used to trigger

1x l0:10
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7" (a)

(b)

(c)

8. (a)

(b)

g. (a) Iil/hat is 
'UPS ? How is it ctassified. ? 5

(b) Explain the working of oFF-LIl"lE uPs with

a Proper diagram 4

lo.WhatisanACregulator.Givesomeofits
applications. I

ll.Whatisasteppermotor?Explaintheprincip|e
of oPeration oi n stePPer motor' I

12. Write a note on switching regulator

regulators"

2g4tht-sorr?E 500(w)

and servo
9

(6)

f invemer.

Explain tlre ,workirrg of a shunt regslator with
_ie proper circuit diagram

wratissL4PS?Namesomecornmonlyuseri
configurations of SMPS' '+


